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Suppose, for example, that at some time moment the cylinder axis has velocity equal to 

ν0 and the angular velocity of cylinder is ω. At cylinder’s movement the thread is always 

starched, so the velocity of cylinder point A (the point touches the thread) is perpendicular 

to the thread. 
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The theorem on the motion of the center of mass of the system 
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2. Slipping at big values of torques 

It should be defined the minimal value of M1 torque when the slipping starts 
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Slipping at small values of torques 
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